1.
FH, BRERETHND,

2.
AN T—I  —ODRIESTRTZ LN TE LR
() BE, S, WE, THAXRY,

N7 MVEEEOREE - FIORSRTNVEERATE T, L7 T &
5
() i, I, A7 2.

~7 Rkl M=
RES
3.
(a) HEDOHNL kg
b)) ESOHN m
I1mm=103m, 1000 mm =1 m, lecm=102m , 100cm =1 m,

1 km =1000 m

() MDA N

kg ODEEZ HOWIKIZ 1 m/s2 OIEELATCSEL N EERSINT

Wa,

(A FEHOHAL Pa (1 Pa=1N/m?)

1 m2 OEFEIZOE 1IN ONEAELSELENTERIND, BRIZHES
577 (BALHEFE 4720 0 J7) ) bIA CHEALZ WS,

1 kPa=103Pa, 1 MPa=106Pa,

1 GPa = 10° Pa

~1Im

1Pa



(a)

Z+ b
N }%:1’5[2’&422
a-b
5 B
a+ 0
-7
2-7
ARV 9
30 N
7, | 7] = 30 cos30° = 30(¥3/2)= 25.98 N
|| = 30 sin30° = 30(1/2) = 15 N
(c) !
x FIA ¢ N 3N
3 c0s45°+ 4 cos60°- 4 cos30°= 0.6572 N 45
30° 45 i
y 71 60° ’
3 s1in45°- 4 sin60°+ 4 sin30°= 0.6572 N
4 N
x il ,
3 c0s45°- 4 c0s60°- 5 c0s30°=-4.209 N 4N
y W 3N
3 sin45°+ 4 sin60°- 5 sin30°= 3.085 N 60° i
30° ¥
2
5N




WA R LIZOWT O R -
(@) X7 FADOAERIZDONT

R MVOR, EFAKO LTS, ADT—EERRY ) SR
2R TR Lo T D

(Nﬁ kL@ Fn ~7 hLDE ‘\

v

-
a -

—_—
- a8
Py
o 2+ b -7
—
a
— - —
a ;_b)_ a—)._)
- — -
\ a + b a-b )

(b) X7 FILDFEIZHONT

G ENTIZ, 1 DODOXRT ML EWL DD NV FET 5 2 &R
Tx %, exiE AEOLSIC F %, EAKEROx#, vyl (3%
JUCIE x #h, v #h, z @) (IR L, KT Y MLORE ZEZHNT,
JEAE R DR EL L TES.

4 ™ —_ — —_

TxT Lo R Y F & F LT, o D

/ >

T |
f

. F
|F,<|=|?|cosﬂ o
F=TF+F
T =T4+T |E) =|Flsine ’
\, y . -




